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Parc I. For a symmetrical tree.
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Parc II. For an extreme asymmetrical (and generally very
unlikely) tree.
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Interpretation of results:
Significant Difference

Yes No
Iss < Iss.c  Little Substantial
saturation saturation

Iss > Iss.c  Useless Very poor
sequences for phylogenetics
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[image: image3.png]A. Testing whether Iss is significantly lower than Iss.C



[image: image4.png]B. transition/transversion vs. divergence plot




The analysis of substitution saturation of RABV sequence alignment file. A. Xia’s test. B. transition/transversion vs. divergence plot.
